= R

S
5 ¢ Gl
2 g
<
N
180708y 1 [sulfzapoar) ibutownyo(l = :
epoIs 0damoie &.& MOJIY] (@) mw
,:_E::%:J my o . mwwo
\% A5 S eSwgm g
ks oy \\\ _.___.-.: H ,0 =] M W < Z S
dn g 2 BEREELERN
(@) g B 2 g &
™ ,Womﬂ,_Wzym =
£2=2-3s353 8%
(@) 2oe¥gLlglRe
7] 3 > »9 RS E g o
EEEx8 2858
< E 8 s8s8E8E5=2% 8 4
= SEE=E58g2E P
w g g wﬂW.mmmmtw Fu
— [ - - B R ) Hﬂp
X Wm mmm..mddma
O, sf22zzs8k8:
06 1 L] 1 1 ] 1 Ll
MKG ® | _ ® o._
m.m.ﬂ S o m w
.. O — N4
=258 - =8 =
38% SIS =
S N «
286 3993 i
o O [a} !
MWre O A a.
Z
()]

studnia nieuzywana

~. :_w.so.éu_cn _ﬁoa/

= J_om@ g%ﬁ s




